Plan for today:
Finish § 1.5

Learning goals:

1. Existence and uniqueness of solutions for IVP involving linear 1st order equations. In particular,
be able/to find the largest interval where a unique solution exists (popular question in finals)

2. Be able to set up a/differential equation for mixing problems and solve it, both when the volume of
the liquid in the container is constant and when it changes with time. (Also popular in finals)

3. When prompted, be able to solve a differential equation of the form dy/dx=f(x,y) by regarding y as
the independent variable instead of x

Reminders:

1. Ungraded mock quiz on Monday

2. OH today 2-3 pm

3. Read the textbook!
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34. Consider a reservoir with a volume of 8 billion cubic
feet (ft3) and an initial pollutant concentration of 0.25%.
There is a daily inflow of 500 million ft> of water with a
pollutant concentration of 0.05% and an equal daily out-
flow of the well-mixed water in the reservoir. How long
will it take to reduce the pollutant concentration in the
reservoir to 0.10%?
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